A _________ on the new factory is expected soon.

Выберите один ответ:
decisive
decide
indecisive
decision

Companies providing goods or services to another organization are called _____________.

Выберите один ответ:
subcontractors
producers
retailers
wholesalers

He is the sole ___________ in this area, so we have to buy from him.

Выберите один ответ:
distributive
distributor
distribute
distribution

__________ includes roads, railways, airports, telecommunications.

Выберите один ответ:
Facility
Utility
Component
Infrastructure

We need __________ market research on what kind of product to launch.

Выберите один ответ:
additionally
add
addition
additional

___________ means the process of defining production volume.

Выберите один ответ:
Capacity planning
Overcapacity
Effective capacity
Design capacity

The new model should be in ____________ in three months.

Выберите один ответ:
production
product
produce
productive

Introducing new products __________ accurate sales forecasting.

Выберите один ответ:
requires
reduces
treats
utilizes

Any __________ production was immediately stopped.

Выберите один ответ:
unprofitable
profit
profitable
profitably

Decisions about what products to make have to ________ into account a company’s operational capability, and labour, capital and equipment requirements.

Выберите один ответ:
put
get
make
take

We need to increase office ___________ for our subsidiaries.

Выберите один ответ:
supplies
supplementary
supplement
supplier

____________ deals with supplying materials and moving them from one production process to 
another.

Выберите один ответ:
Manufacturing
Logistics
Bench-marking
Operations

John Smith is in charge of Research and … .

Выберите один ответ:
Developing
Develop
Development
Developer

It is necessary for companies to plan for occasional ___________, when production stops because of equipment failures.

Выберите один ответ:
overtime
time-out
downtime
uptime


We are planning to reduce prices to fight with the _____________.

Выберите один ответ:
competitive
compete
competitiveness
competition

Producing in large quantities lowers the average fixed cost per unit produced and gives companies _____________.

Выберите один ответ:
economics of scale
large-scale facilities
economies of scale
under-utilizing

We __________ with our partner on the question of prices. We’ll probably have to look for a different supplier.

Выберите один ответ:
agreeable
disagree
agree
agreement

According to Just-In-Time system components are delivered just when they’re needed, so there’s no __________.

Выберите один ответ:
inventory
invention
investment
innovation

They are very _________ partners. They always follow the terms of the contract.

Выберите один ответ:
reliability
unreliable
rely
reliable

We need to consider many factors when choosing a _________ for the new factory.

Выберите один ответ:
warehouse
facility
location
layout
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